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O AgXE JAE 28 & =2EdlE 2
e 7Y 300,00024 %105 3,000
207 ARl 20,000 4,000 16,000
03 Al 2HI 20,000 4,000 16,000
B BUSMA 29 S 287
200,000 »1008 20,000
301 22N = 4,200 4,200
11 dALEEIXIE S 4,200 4,200
O =g Sdus 41 |24
40,0002 *60H 2,400
O =g 2Nl digs e 38 d2)I
= U=s 600,000 *3&H= 1,800
405 AtaHE = 15,000 15,000
01 T ESFISHI 15,000 15,000
O % BRSMA 29Tl 2
15,000,000 15,000
ASMNSFOF JISAIY (&) 64,000 120,000 /56,000
= 24,000
Al 40,000
402 QI2F X201 & 64,000 120,000 256,000
= 24,000
Al 40,000
02 QI XHZ AL E R (01X THE) 64,000 120,000 /56,000
O H ASE D= & 2lie |4 IHH
Xl =8 Al
80,000,000& * 17 2-+80/100 64,000
s 24,000
Al 40,000
AEAE AMAE 182,500 115,500 67,000
402 BIZtAH=01H 182,500 115,500 67,000
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O AUSIIE HHE flet ASEE MY
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4 Y 2EE M2 AlY
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= 10,000
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A 30,000,000& * 1IH2A 30,000
= 15,000
Al 15,000
O NYABIHHIAR LEE XRAL 2 T
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= 15,000
Al 15,000
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= 200,000
Al 200,000
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= 175,000
Al 175,000
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= 175,000
Al 175,000
01 ML ESFSHI 360,000 550,000 A200,000
O RE0Id= UHS3sSALE £X
240,000,000 240,000
== 120,000
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Al 26,200
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O H olilEs &Ml NI
156,000 *13,300ha*80/ 100 1,659,840
= 82,200
Al 1,577,640
sh=goiE dod 29 22,000 55,075 133,075
= 6,600
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201 er23 | 12,500 10,000 2,500
= 3,750
Al 8,750
01 At2teltl 7,220 6,000 1,220
O dolis M g2= M=
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= 1,584
Al 3,6%
202 04| 4,500 3,000 1,500
= 1,350
Al 3,180
01 =LHOLI 4,500 3,000 1,500
O oS o2 2 Mo 2
50,0002 9 x102] 4,500
= 1,350
Al 3,180
206 M=l 5,000 9,000 24,000
= 1,500
Al 3,500
01 M=4l 5,000 9,000 4,000
O Hohs 0E HE P
500,0002 %105 5,000
= 1,500
Al 3,500
NSE H30[0a it 581,036 718,623 137,587
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MU IIRINZZE2NSES 43,286 52,383 A9,097
O BHE0oI 2HAAR 2R
197,450 x4 & 20 15,796
O 30/e/% MAEX] K&zl IR 27,490
— S§AE o2y 91,6303 7 »20 12,829
— N2 o2y 91,6303 x4 »40 14,661
201 fer23y| 12,290 5,940 6,350
01 AtR2t2lHI 12,290 5,940 6,350
O =308 THEHEX 2XE HE2 M
20,0003 » 1002 X| 2,000
O 2S04 =018 =23 M 640
— OSOIN HIH 3002 *1,0000H 300
— Soteel A M
200& *1,0000H 200
— ANESF A 7
7,0008+20F S 140
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VS e 1,833 1,783 45
O N4 ABAEE 29 22
91,6303 x2& » 10! 1,833
201 er=23y| 5,300 5,300
01 AtR2t2|HI 5,300 5,300
O MEMHA HERDIEsXE 85 7Y
300,00024+ 103! 3,000
O =S DRBE L 242Y APBE
- 230,000& x102] 2,300
202 04l 720 720
01 =LHA LI 720 720
O ANE2 M IsXE & 2282 8
72,0002 %102 720
206 M=H| 2,000 2,000
01 M=8l 2,000 2,000
O AIETA ASAIEE 2F 7
200,0002 %105 2,000
402 QI+ X201 & 145,288 96,250 49,038
01 QI X2 AL E A (KHMITHE) 145,288 96,250 49,038
O ELARIYGHNY =3 JI=E22 Al
HA 30,000,000 24 A+50/100 30,000
O Mgle =% Bt=d MUHEX =4
102,575,000 * 1JHA * 50/100 51,288
O @J| DA U HIX AE KIRAF (XX
A E=)
160,000,000& * 104 = 40/100& 64,000
HAZ0F D= 2SAY 32,108 36,806 A4,698
101 @124H| 5,498 3,576 1,922
M OIRINZZE2NSE S 5,498 3,576 1,922
O MA20F dD|l= 4SAER 28 2URY
91,6303 x2& »30! 5,498
201 fer= 3| 2,700 2,700
01 AtR2tc|HI 2,700 2,700
O HAZ0F MHI=XE 235+
300,000 *92] 2,700
202 04l 630 630
01 =LHolb 630 630
O MAZ0 N4 L DT B4
63,0003 %102 630
206 M=l 2,000 2,000
01 M=4l 2,000 2,000
O MAZ0F 2Dl ASASE 28 e+
= 200,000& %105 2,000
207 AR 13,400 10,400 3,000
03 Al &2t 13,400 10,400 3,000
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O Ma20F Salisdet 28 =237
100,000& 205 2,000
O MA20F 8Dl &5 AIE
100,000 205 2,000
O MA20F SLEHS LAUZE ASAE
A== 7Y 120,000& *105 1,200
O MAZ0F Solls 02 g Eg 7Y
11,0002 »200M E 2,200
O MHAZO0F HOlAA JSHIE 7Y
300,000 x105+23] 6,000
402 2I2FX=201& 7,880 17,500 29,620
01 IR ESASE R (RHMITHR) 7,880 17,500 29,620
O =X10= KQUHMDF RIS THEH Al
15,760,0002 * 1JH2 * 50/100 7,880
AO0IEESEY JIBD = 2= 100,422 65,077 35,345
101 @124H| 23,202 13,857 9,345
MU IIRIMZZENSES 23,202 13,857 9,345
O ANESY HAEHE 23 22 23,202
—J2= 91,6302 x1H =184 16,860
— 5= 91,6303 18 %30 3,574
— REsdsd 91,6301+ 11 1,008
— SESIHI 500,000 * 1& = 13 500
— 3%aAHl 140,000 * 1 » 9 1,260
201 fet=3| 7,000 7,000
01 At 22|l 2,000 2,000
O ANE24 & HAEHE W8T 257
& 200,000& %105 2,000
2 352484l 5,000 5,000 0
O ANE24 2 HAEHE WSZE FHl &
NE=E 1 0002 54| 5,000
202 048l 720 720
01 2L AL 720 720
O ADESY WHDIsXE & HRE
72,000& %102 720
206 M=l 8,500 8,500
01 M= H| 8,500 8,500
O ADIE24 L HAEHE NS 2 3
2 s =7 490,000 %105 4,900
O ANE24 ¢ HAEHE LR 28 &
dH2 S 7Y 80,0002 x155+33] 3,600
207 ARl 5,000 5,000
03 AlIZ & =2t| 5,000 5,000
O A0IE24 & HAEHE WS ASAl
g =37 250,000 »205 5,000
401 Al HIZL 201 20,000 20,000 0
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01 Al&HI 20,000 20,000 0
O AlIE24 Z2detd ZLHE AIAE 4
N 20,000,000 * 190 2 20,000
402 2IZtA=01d 10,000 10,000
01 QI XHE AL E R (KM THE) 10,000 10,000
O AIZ30 ADIESY =Ulls 25
10,000, 000:& *29H A+50/100 10,000
405 KHaHE SH 26,000 0 26,000
01 AL =S F=H| 26,000 0 26,000
O ADESA Y 2|ZE3} 7Y
6,500,000& * 24 13,000
O AltE24d UMD
13,000,000& * 14 13,000
XS S5 M2 B (HMEALY) 174,000 539,000 365,000
== 87,000
Al 87,000
206 M=l 24,000 24,000 0
< 12,000
Al 12,000
01 MHZH| 24,000 24,000 0
O Jl=d3 s =LgallE 2A
100,000 *240ha 24,000
= 12,000
Al 12,000
402 2I2F X201 & 150,000 495,000 345,000
== 75,000
Al 75,000
02 RIINEASEZ(0IETHR) 150,000 495,000 A345,000
O AUSE20F B BAS 9is XES
e B 90,000,000 * 14 2 90,000
== 45,000
Al 45,000
O 2oxs 88 £ s JI=28 Al
& 20,000,000 *1IH £ 20,000
=S 10,000
Al 10,000
O JI=HsisS AIEMa =20 eZ2el
A& 40,000,000 * 11 2 40,000
= 20,000
Al 20,000
NSSHNHLAIEARE 2 110,968 77,397 33,571
101 @12A4H| 15,008 6,177 8,831
04 JIZtNZ22 NS+ 15,008 6,177 8,831
O XS AIgHE &g 15,008
— LEEY 9 10,996
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2ol ASI|E0I8 MASENY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— ZHIJI 197,450 2 +5 1,975
— &Y 203,630 x2H 5 2,037
201 fet=23y| 63,960 62,220 1,740
01 AtR2tc|HI 10,740 9,000 1,740
O XNEsg AIgETE YIS XMl
4,170,000 »22] 8,340
O ANEALE 2CIAH & 24 H)|otd
g 200,0002 123 2,400
2 s5=34l 53,220 53,220 0
O AESHTE 2eAL 2 24 )RS
3,000,000 12& 36,000
O AMEHRE 2AC|A HHHZ
1,0502430 £ 0! 2,520
O Xsel ABRE STe
14,700,000 14,700
206 M=l 12,000 4,000 8,000
01 M=4l 12,000 4,000 8,000
O NeEs2ig Alga22d 2 Mg +
=] 2,000,000 «3% S+221 | 12,000
207 AR 20,000 5,000 15,000
03 Al =2t 20,000 5,000 15,000
O NesgHg Aga71E 237
1,000,000& x105+23] 20,000
N ElrSEe St 431,694 292,991 138,703
= 67,930
[ 3,000
Al 360,764
e = 79,004 54,181 24,823
101 @124H| 9,163 8,940 223
M ORINZZ2NSE S 9,163 8,940 223
O B+ - Hi2lE SENAE 2% ol 9,163
— Uuix oy
91,6308 * 2% = 50 9,163
201 fer=3| 12,121 11,521 600
01 AtR2t2|HI 7,421 7,421 0
O == - Hicl® RENEE 28 2378
182, 1003 %105 1,821
O t== - dilel Mz nSHE M
800,000& 42| 3,200
O dt== - tiic| oSS 2 Mool K=
INE=DN BN 6002 x25+2,000& 2,400
02 s3=gbl 4,700 4,100 600
O == - HiclF RANIE AEE FAE
470,000& %102 4,700
202 04l 720 720 0
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3 IS sW=sE2
SRl Wt E g EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 720 720 0
O B4 - HIZIE KRS U D A2HF
3 &4 72,0002 x2H+53] 720
206 Mzl 27,000 27,000
01 b 27,000 27,000
O =+ Hi2lE SENAE 29 WE7Y
100,000& 205 2,000
O B4 HHSTHE 0IZ NP
100,000 x105+52] 5,000
O == - dicl SLolE 2SLHbI
10,000,000& * 23] 20,000
207 ARl 2,000 6,000 24,000
03 AlZ &=t 2,000 6,000 24,000
O == - Hicl® R8N AERE 28 =23
-8 100,000& x25+102] 2,000
401 Al HIZL 201 28,000 28,000
01 Al&H| 28,000 28,000
O == Alg24 RgHD| X
28,000,000& * 14 28,000
h==Jl=2sAY 244,390 173,710 70,680
202 04dl 1,000 1,000 0
01 2L AL 1,000 1,000 0
O == - Hicl® DIz 28 NE+E & =5
D YN == 100,000 x2& +53] 1,000
307 212+01& 6,000 6,000
02 LB HANHEE 6.000 6.000
O 2SS4 2242l €2 AHIsN 82(
INPADSI=1=)) 5,000,000 x32%40/100 6,000
402 2I2FX+=01 & 237,390 172,710 64,680
01 QI X2 AL E R (KEHITH) 237,390 172,710 64,680
O 242l JEE FX2E] AIHAY
68,000,000& * 1JH2+50/100 34,000
O U3 Ut dits ?Ast 2L E g 2
S=2J| ABAE
16,950,000 * 1JH2 = 50/100 8,475
O == doliEs LHAA
120,000,000& *1JH2 * 50/100 60,000
O ZSAtl 45t & ISEAE Set 38
S MDA
32,150,000& *1JH2 = 50/100 16,075
O S=Hiel AFMA NIHSS AR (XIRHA
8e) 173,100,000 *1JH2 = 40/100 69,240
O &2 QrE A THHXIZAS (KIRHH &)
124,000,000 *1JH2 * 40/100 49,600
SHEYE 2L 2Y 8,100 8,100 0
= 2,430
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SRl A=t AAD (EEEE))
SA - B SRIBH) - MRAR - BAS A HIDEZ
Al 5,670
202 048l 3,900 3,900 0
= 1,170
Al 2,730
01 SLHo4HI 3,900 3,900 0
O gdis
20,0003 38 »65 3,900
= 1,170
Al 2,730
206 MH=Hl 4,200 4,200 0
= 1,260
Al 2,940
01 M2t 4,200 4,200 0
O gils 2
1,400,000 35 4,200
= 1,260
Al 2,940
dolls ol 47,000 47,000 0
= 23,500
Al 23,500
101 @124H| 25,726 22,860 2,806
= 12,863
Al 12,863
04 J12HMI ASES 25,726 22,860 2,866
O dolis az2dNe 2322y 25,726
—-J=2=2 91,6302 = 1¥ = 206 18,785
= 9,393
Al 9,392
- =5 91,6302 = 1% = 432 3,941
= 1,970
Al 1,97
- 82
91,6302 = 1& = 12& 1,100
= 550
Al 550
- g 500,000 x1H =13 500
= 250
Al 250
-3 140,0002 x1&x 102 1,400
= 700
Al 700
201 &etz 13,140 13,140 0
= 6.570
Al 6,570
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 11,000 11,000 0
O HZxtg Xl 1,000,000 «90H 2 9,000
= 4,500
Al 4,500
O golseM NEXNE HE S
200,0002 %105 2,000
= 1,000
Al 1,000
02 35244l 2,140 2,140 0
O HZxtg A=l 200,000+ 1,800
= 900
Al 900
O Holls 2dss e g8 2K
340,000& 340
= 170
Al 170
206 MH=H| 8,134 11,000 A2,866
= 4,067
Al 4,067
01 W=H 8,134 11,000 12,866
O HillE NEYNE 2Y2E 7Y
81,3402 *105+102 8,134
= 4,067
Al 4,067
JAgolE UM ASUSE 2 10,000 10,000 0
< 3,000
Al 7,000
201 2= 5,000 5,000 0
& 1,500
Al 3,500
01 At2tltl 5,000 5,000 0
O S oz YR
1,000,000 *30H & 3,000
= 900
Al 2,100
O Z9gos ¢H sHIEE 2= MA
1,0002 %1,000& 25 2,000
< 600
Al 1,400
206 M=l 3,000 3,000 0
= 900
Al 2,100
01 MZH| 3,000 3,000 0
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Rl Feastgs JleXd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
P EEED
194, 7003 %105 1,947
02 S3=gHl 3,600 3,600 0
O 2488l K2 900,000 <42 3,600
202 04| 540 540
01 3L 540 540
CEEEE S CENEE
90,0002 x2& +33] 540
207 ARl 3,000 5,000 22,000
03 A& 32t 3,000 5,000 /2,000
O B U dH|=A Al
100,000& #3055 3,000
SEHFHAURE(=2HI) 26,400 29,000 22,600
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